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202.55

202.5

202.45

202.4

202.35

202.3

202.25

e e .-
e [ -

I

5427 5427.2 5427.4 5427.6 5427.8 5428
cyclenum

4eY_coil4:cyclenum {run == 6099}

13.346

13.345

13.344

13.343

13.342

13.34]

213.34

5427 5427.2 5427.4 5427.6 5427.8 5428
cyclenum

4aY_coilé
~
o

@
o

50

40

30

20

10

4eY_coilé
=
o

14

12

10

4aY_coil6:cyclenum {run == 6099}

5427.2 5427.4 5427.6 5427.8 5428
cyclenum

4eY_coil6:cyclenum {run == 6099}

e A

5427.2 5427.4 5427.6 5427.8 5428
cyclenum

:\—18.8
-19
-19.2
-19.4
-19.6

-19.8

-20.2

-17.2
-17.4
-17.6
-17.8

-18

-18.2

-184[

-18.6

4aY_coil7:cyclenum {run == 6099}

S SNUUURE RN SO W b e
O SRUOR SUUORUN VRN SO i
SRS S S S i
S SRNRUOR SRRRRS SORNNE SO L
ST T bk

5427

5427.2

5427.4 5427.6 5427.8

5428
cyclenum

4eY_coil7:cyclenum {run == 6099}

I

1

5427

5427.2

5427.4 5427.6 5427.8

5428
cyclenum




i
3
>

-235

-236

—237

-238

-239

—240

12X_coil6

~

<)

12X_coill:cyclenum {run == 6099}

ok T
E *

5427 5427.2 5427.4 5427.6 5427.8 5428
cyclenum

12X_coil6:cyclenum {run == 6099}

5 5427.2 5427.4 5427.6 5427.8 5428
cyclenum

-80.15

-80.2

-80.25

-80.3

-80.35

-80.4

-80.45

-80.5

-503

-503.5

-504

-504.5

-505

-505.5

12X_coil3:cyclenum {run == 6099}

[ A

X

P T R PRI ENRPE AR I
5427 5427.2 5427.4 5427.6 5427.8 5428
cyclenum

12X_coil7:cyclenum {run == 6099}

*

5427

5427.2 54274 5427.6 5427.8

5428
cyclenum

12X_coll4
L
(9]

6101

3100.5

6100

5099.5

6099

5098.5

6098

5097.5

6097

12X_coil4:cyclenum {run == 6099}

5427 5427.2 5427.4 5427.6 54278 5428
cyclenum

run:cyclenum {run == 6099}

5427 5427.2 5427.4 5427.6 5427.8 5428
cyclenum




	Contents
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8


